BC-07

June — Examination 2024

B.Com. (Part II) Examination
CORPORATE ACCOUNTING
(P erEiane)

Paper : BC-07

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 2x7=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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(i)

(iii)

(iv)
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What do you mean by Accounting

Principles ?
ST g 9 o9 1 99ed © 7
What is Indian AS ?

YN el Ak =1 § 2

State any two points of differences between
shares and debentures.

Y T HOMT H FIE A AN FqEU |

The assets purchased from a continuing
business by a company were valued at
% 5,40,000 and its liabilities were taken at
31,50,000. The amount of purchase
consideration was determined at ¥ 6,00,000.

What will be the amount of goodwill ?
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v)

(vi)

(vii)

Note —

T HEA GRI =16 FOHE § FF Hi T qrEfaai
%1 g3 ¥ 5,40,000 T e I T 1,50,000 H
fere T &1 FA-wfawa &1 ¥ T 6,00,000 fuifa
H G| =AM HT AT FA BT ?

How will you calculate goodwill by super
profit method ?

afyeny fafyr & R W o9 wEfa &1 oM
fre gRR HOT ?

When is the Internal reconstruction desirable ?
A AT e S 8l § 2

State various methods of redemption of
preference shares. (Name only)

MM ool & e &1 fafw= dfa & ™
ERIEY

Section-B 7x4=28

(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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2. Explain the following accounting concepts :

(@) Going concern concept

(b) Accrual basis concept

= TR sTaEmones Sl THEEy
(37) 5] IR ATERON

() IUSH YR TR

. What is meant by Forfeiture of shares ? Explain

the accounting treatment of forfeiture of shares.

3TN & WO G F A § 7 S WU b T §
T SHAER SR |

. Write a short note on managerial remuneration.

yeusa TRHfiE W tw afaa o fafem)

. The following information are given :

®)

Profit after tax 1,00,000
12% Preference shares of 3100 each 1,00,000
Equity shares of ¥ 100 each 5,00,000

Normal rate of return 15%
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80% of profits are distributed as dividend. Ignore
tax. Calculate the value of equity share by :

(@) Dividend rate method

(b) Expected rate of return method

o o~

frefafea gean o&ga © :

()
F I A 1,00,000
12% <Ifemm &9 g 3 100 1,00,000
qaar 79 g T 100 5,00,000
I A s ) e B 15%

FHEAT A HT 80% N AU & &9 H foaia &t
T H A AN T T S 7| T ST B qed T
FIfST

(&) @ <2 fafy g

(91) At g < fafy gr

. What do you mean by ‘Profit Prior to

incorporation’ ? How are they ascertained ?

. Discuss clearly the order in which a liquidator

should distribute the proceeds from the sale of
assets.

IH HH H WEaT 99 Sifee fS9H T R @
gufwdl & fawa § aga & . Ut # foafa s
=ifgw ?

. What do you understand by (a) Marked Shares (b)

Unmarked shares ? How liability of underwriters
is determined on this basis ?

(e7) fafga (9) sifafeq oisi @ o9 1 9@ € 2
T YR W ARSI fva ywr fAuilRa
T ST ® ?

. What do you mean by Debentures ? What are

different methods of redemption of debentures ?
Explain any two methods.

FOMT 9 AT BN TEAd § 7 RO @ TIYA i
fafy= Gfqal =1 € 2 fol 9 Ofcal =1 s9wmET)

Section—-C 14%x2=28

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

HeE ¥ qd & @ W Y N WHe § 7 SHe

Truftor fFe R o S ® 2

your each answer maximum up to 500 words.

Each question carries 14 marks.
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10. What is the difference between Equity share and

Preference share ? Explain the procedure of issue

of equity shares (a) at par (b) at premium.

quar Tl qen Sifume ofen H eRm € 7 wHal oW &
e &t (31) TFed W () Wi W, gfwan &
HHART

11. Journalise the following transactions in the books

of respective companies :

(a)

(b)
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R. Ltd. redeemed 3000, 12% Debentures of
T 100 each which were issued at par, at 110%
by converting them into equity shares of ¥ 10

each at par.

P. Ltd. redeemed 2000, 12% debentures of
% 100 each which were issued at par, at 110%
by converting then into equity shares of ¥ 10

each issued at 25% premium.

grafea wEE w gl § T STaeRl w1 S

yfafteat s :

(1) oW fa 3 3000, ¥ 100 3 12% o9 5=
Ted R Frifaa fear a1, &1 sie 110% W
310 a1 9 sfaEel Smll WH Hed W URend
B feran |

(/) . fa. ¥ T 100 s/ 2000, 12% o 9=
Ted W ifa fean o, 7R sied 110% =
T 10 ot T3 sfaeer ofnht H ufedw gRr fwam
T AW 25% Wifeem W fifaa e

12. What do you mean by Amalgamation of
companies 7 How purchase consideration is
determined for these ?

HEA % ThHIH § 39 = THAG & 7 SHD 3T
F9 Yfamel i MM fRE THR HI SR T ?

13. Explain the following in detail :

(@) Contributories
(b) Issue of debentures as collateral security

(c) Bonus shares

frAfafea & foxr 9 99smsT

(7)) He

(9) HOTT HT FHNAE Tfayfd & w9 # i
(|) 9 e
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